## Homework 4 - Spring 2020 MATH 126-001 - Introduction to PDEs

1. Consider the wave equation that includes frictional damping:

$$u_{tt} + \mu u_t = c^2 u_{xx},$$

in which  $\mu > 0$  is a damping constant. Show that if u(x,t) is a  $C^2$  solution with  $u_x \to 0$  as  $x \to \infty$ , then the total energy  $E(t) = \int_{-\infty}^{\infty} \frac{1}{2}(u_t^2 + c^2 u_x^2) dx$  is a decreasing function.

Incidentally, can you devise a  $C^2$  function f(x) with the property f(x) approaches a constant as  $x \to \pm \infty$ , but f'(x) does not approach zero?

2. Consider the second order ODE

$$u''(t) + c^2 u(t) = f(t)$$
$$u(0) = \phi$$
$$u_t(0) = \psi.$$

where  $u : \mathbf{R} \to \mathbf{R}$  is  $C^2$  and  $\phi, \psi \in \mathbf{R}$ .

(a) Express the second order ODE as a system of first order ODE

$$\mathbf{U}_t + A\mathbf{U} = \mathbf{F}$$
$$\mathbf{U}(0) = \Phi$$

where  $\mathbf{U}, \mathbf{U}_t$ , and  $\mathbf{F}$  are vector valued functions in  $\mathbf{R}^2, A \in \mathbf{R}^{2 \times 2}, \Phi \in \mathbf{R}^2$ .

(b) Solve the system from part (2a) and show that

$$\mathbf{U} = e^{-At} \int_0^t e^{As} \mathbf{F}(s) \, ds + \Phi e^{-At}.$$

(c) Define the solution operator S by

$$S(t)\mathbf{W} = e^{-At}\mathbf{W}$$

and express the solution from (2b) in terms of S,  $\Phi$  and  $\mathbf{F}$ . What ODE does  $S(t)\Phi$  solve?

3. Let

$$u_{tt} - c^2 u_{xx} = f(x, t), \quad x \in \mathbf{R}, t > 0$$
$$u(x, 0) = \phi(x), \quad x \in \mathbf{R}$$
$$u_t(x, 0) = \psi(x), \quad x \in \mathbf{R}.$$

(a) Express the second order PDE in terms of a system of PDEs as you did in (2a). (b) Solve the system from (3a) for the case

$$u_{tt} - c^2 u_{xx} = 0, \quad x \in \mathbf{R}, t > 0$$
$$u(x, 0) = \phi(x), \quad x \in \mathbf{R}$$
$$u_t(x, 0) = \psi(x), \quad x \in \mathbf{R}.$$

and define the solution as  $\mathbf{U}_h$ . The solution operator for the system is therefore  $S(t)\Phi(x) = \mathbf{U}_h$ .

- (c) Following the pattern established in (2c), write the solution of the non homogeneous system established (3a) and compare it to the solution we derived in Section 4.4.
- 4. Find the solution of

$$u_{tt} - u_{xx} = f(x, t), \quad x > 0, t > 0$$
  
$$u(x, 0) = \phi(x), \quad x > 0$$
  
$$u_t(x, 0) = \psi(x), \quad x > 0$$
  
$$u(0, t) = \phi(0) = 0$$

for  $x \leq t$  by using Green's Theorem and integrating over the domain of dependence.

- 5. Consider the wave equation in three dimensions, with initial conditions in which  $\phi(\mathbf{x}) = f(|\mathbf{x}|)$  is rotationally symmetric, the function f satisfies  $f(r) = 0, r \ge \epsilon$ , and  $\psi \equiv 0$ . Show that the solution  $u(\mathbf{x}, t)$  is (a) rotationally symmetric, and (b) zero outside a circular strip centered at the origin and having width  $\epsilon$ .
- 6. Show that  $\Delta \phi(r,t) = \phi_{rr} + \frac{n-1}{r} \phi_r$ . Consequently, the heat equation for rotationally symmetric functions  $u(\mathbf{x},t) = \phi(r,t), r = |\mathbf{x}|$ , is

$$\phi_t = k \left( \phi_{rr} + \frac{n-1}{r} \phi_r \right).$$

Also do the same problem but for the wave equation in  $\mathbb{R}^3$ , show u(r, t) satisfies

$$u_{tt} = c^2 \left( u_{rr} + \frac{2}{r} u_r \right)$$

7. (a) Let  $g:[0,\infty) \to \mathbb{R}$  be a bounded integrable function. Prove directly that

$$u(x,t) = \int_0^\infty (\Phi(x-y,t) - \Phi(x+y,t))g(y)dy$$

is an odd function of  $x \in \mathbb{R}$  for each t > 0. (Here,  $\Phi(x, t) := \frac{1}{\sqrt{4\pi kt}} e^{\frac{-x^2}{4kt}}$ .)

(b) Let  $h: \mathbb{R} \to \mathbb{R}$  be an odd bounded integrable function. Prove that

$$u(x,t) = \int_{-\infty}^{\infty} \Phi(x-y,t)h(y)dy$$

is an odd function of  $x \in \mathbb{R}$  for each t > 0. That is, the symmetry in the initial data is carried through to the same symmetry in the solution.

Homework 4 Solution

 $\frac{d}{dt}E(t) = \frac{d}{dt}\int_{-\infty}^{\infty} \frac{1}{2}(U_{t}^{2}+C^{2}U_{t}^{2})dx$ 

Dongsyn Lim 1. Idea: You can basically mimic the argument in 4.3. It is enough to show that E'(E) is negative. Mat if Ut=03  $a \Rightarrow$  the equation becomes  $U_{H} = C^2 U_{R}$ .  $= \int_{-\infty}^{\infty} \frac{1}{2} \frac{\partial}{\partial t} \left( u_{t}^{z} + C^{z} u_{x}^{z} \right) dz$  $\Rightarrow U(x,t) = F(x+ct) + G(x-ct)$  $\Rightarrow F'(x(\mathcal{C}) = G'(x - \mathcal{C}) \qquad \text{Compute } (\mathcal{L} = O.$  $= \int_{-\infty}^{\infty} \frac{1}{2} \left( 2 U_{k} U_{k} + 2C^{2} U_{k} U_{k} \right) dx$ =  $\int_{-\infty}^{\infty} \left( 1 U_{k} (C^{2} U_{k} - u_{k}) + C^{2} U_{k} U_{k} \right) dx$  $\Rightarrow$  F'=G'= constant  $\Rightarrow$  (l(x,t)=C.x+C.

$$= \int_{-\infty}^{\infty} (U_{t} \cdot (C \cdot U_{0x} - \mu \cdot U_{t}) + (C \cdot (U_{x} \cdot U_{xt}) dx) = \int_{-\infty}^{\infty} -\mu \cdot U_{t}^{2} dx + C^{2} \int_{-\infty}^{\infty} (U_{t} \cdot U_{xx} + (U_{x} \cdot U_{xt}) dx) = But, \quad (u_{x} \rightarrow 0 \text{ as } x \rightarrow \infty \Rightarrow) C_{0} = 0.$$

$$= -\mu \cdot \int_{-\infty}^{\infty} U_{t}^{2} dx + C^{2} \int_{-\infty}^{\infty} \frac{\partial}{\partial x} (U_{t} \cdot U_{x}) dx = \text{Theorematic theorematic theorem$$

First of all, we can think about f(x) = 7.5 Int. We know that the derivative does not go to zero even though f goes to 0 (as 2 goes to 0). So, this famous function is giving some due about what we are losting for. We wond an example of 'as x->00' so let's take 1/2 sin x instead. Nowever, the derivative becomes 2 CSX-Sin x and it converges to 0 as  $\chi \rightarrow \infty$ . To make  $\chi \cos \chi$  part have  $\chi^2$ -term, we can try  $\frac{1}{\chi} Sin(2i^2)$ . Now,  $\left(\frac{1}{\lambda}STN(\lambda^2)\right)' = \frac{\chi_{22}c_{23}(x^2) - STN(\lambda^2)}{\chi^2} - 2CS(\lambda^2) - \frac{STN(\lambda^2)}{\chi^2}$  and now it does not converge QB Q-200. 4 It looks like you need some extra assumptions on U (or Un & U.). For example, (as in the argument of 4.3) we need to assume that us and un are L<sup>2</sup>-functions.

Otherwise, it is not necessarily the case that we can talk about  $\int_{-\infty}^{\infty} U_{k} U_{x}$ . 400 loop this matrix malled a U.II to  $\cap$ 

(a) Let U(t) be the vector function 
$$\binom{U(t)}{U(t)}$$
. Then,  $U_t = \binom{U'(t)}{U'(t)} = \binom{U'(t)}{-CU(t)} + f(t)$ .  
If we let  $A$  be  $\binom{C_2}{-C_2}$  and  $F = \binom{P}{4}$ ,  $\stackrel{i=}{=} \binom{O}{-C_2}\binom{U(t)}{U'(t)} + \binom{O}{f(t)}$ .  
we get  $U_t = A(U+F)$ . However, the initial condition becomes  $U(O) = \binom{U(S)}{U'(O)} = \binom{P}{Y} = \overline{F}$ .  
(b) We introduce  $e^{At} := I_2 + At + \frac{(At)^2}{2!} + \cdots$  which satisfies  $(e^{At})' = A \cdot e^{At}$ .  
Then,  $(e^{At} \cdot U)' = e^{At}U' + A \cdot e^{At}(U = e^{At}(U_t + AU) - e^{At}F)$ . (Here,  $Ae^{At} = e^{At}A$  is used.)  
Therefore,  $e^{At} \cdot U = \int_{0}^{t} e^{AS} \cdot F(SAS + C)$  and  $C = \overline{\Phi}$  and be obtained from the initial condition.

Dongbyu Lim

(C) We can drange all the terms with 
$$e^{At}$$
 into the ones with  $S(t)$ .  

$$(l = e^{-At} \int_{a}^{t} e^{As} F(s) ds + e^{-At} \cdot \underline{\Psi}$$

$$= \int_{a}^{t} S(t-s) F(s) ds + S(t)(\underline{\Psi}).$$

$$S(t)(\underline{\Psi}) \quad \text{solves the equation } U_{t} + AU = 0 \quad \text{and } (U(0) = \underline{\Psi}.$$

3. Then the negarial that to be 
$$\partial_{1}^{2}(U)$$
 and consider  $\partial_{1}^{2}$  as if it is a number  
(a) let  $U$  be  $\binom{U}{U_{4}}$ . Then,  $U_{4} = \binom{U_{4}}{U_{4}} = \binom{U_{4}}{C^{4}U_{4}+4} = \binom{U_{4}}{C^{4}U_{4}} + \binom{P}{4} = \binom{Q_{4}}{Q_{4}}\binom{V_{4}}{V_{4}}$ .  
The artical antition is  $U(1,0) = \binom{V(0)}{V(0)}$ .  $=-AO+F$ .  
(b) The unique solution if  $U_{4} = C^{4}U_{2}$  or  $U(1,0) = d(1)$  and  $U_{4}(1,0) = V(1)$   $\forall_{1}CR, +>0$   
is given by d'Alembord solution:  $U(1,0) = \frac{1}{2} \left[ \phi(1+c2) + \phi(1-c3) + \frac{1}{2C} \int_{1-c4}^{1-c4} U(3)d_{3} + \frac{1}{2C} \int_{1-c4}^{1-c4} U(3)d_{4} + \frac{1}{2C} \int_{1-c4}^{1-c} U(3)d_{4} + \frac{1}{2C} \int_{1-c}^{1-c} U(1)d_{4} + \frac{1}{2C} \int_{1-c}^{$ 

5. Idea: 
$$U(X,t)$$
 is detored by integralize the initial andrian function along a phase of the addar X.  
(a) From (4.23) in Section 4.5 of the textbook, we have the following formula for the solution:  
 $U(X,t) = t \int V(Y) dS + \frac{2}{2t} \left( t \int \phi(Y) dS \right)$   
Sixed ||  
 $O$  in our case  
If is enough to prove that  $\int_{S(X,tG)} \phi(Y) dS$  only depends on |X| for a fixed t.  
We will use a well-ferrain fact from theor Algebra. Let  $X \in \mathbb{R}^3$  be another vector of  
the same leight. Then, we can find a linear branchim T (or 3x3 matrix M)

Dongsyn Lin

Sochisfying the followsing conditions: 1) 
$$M_X = X'$$
 2)  $M^T M = J_3$  (the 3x3 indentity moderix)  
3) det  $M = 1$ .

How? You can find an orthonormal basis B containing X and B' containing X' whose orientetions are the same. Then, you can assider the change of coordinates matrix from B to B'. Clearly, M defines a differentiable bijective map from S(X,Ct) to S(X',Ct) because  $M(X+Ct\cdot\overline{v}) = MX+Ct\cdot M\overline{v} = X'+Ct\cdot\overline{v}$  but M preserves the length and bijection

SO 
$$\overline{V}'$$
 covers  $S(\mathbb{O}, 1)$ .  
Now, we apply the change of coordinates formula to our integration:

$$\int_{\mathcal{S}(\mathbf{x}',\mathbf{t}')} \varphi(\mathbf{y}') d\mathbf{S}' = \int_{\mathbf{x}',\mathbf{t}'} \varphi(\mathbf{x}' + \mathbf{v}') d\mathbf{S} = \int_{\mathbf{x}',\mathbf{t}'} \varphi(\mathbf{x}' + \mathbf{v}') d\mathbf{x}' = \int_{\mathbf{x}',\mathbf{t}'} \varphi(\mathbf{$$

Therefore, U(X,t) is constant as long as X varies over vectors of the same largely. So, it is rotationally symmetric.

(b) The circular strip means where x and 
$$+$$
 satisfies  $B(X,Ct) \cap B(O,E) = \varphi$  where  $B(X,r)$   
is the ball (not a satural) on load of X with the radius r

If we look at the integration formula, it is given by 
$$\exists f(f \int_{S(X,G)} \phi(Y) dS)$$
.  
However  $\phi(Y) = f(|Y|)$  is zero for  $Y \notin B(O, \varepsilon)$  but  $X(X,G) \cap B(O, \varepsilon) \subseteq B(X,G) \cap B(O, \varepsilon) = \phi$ .  
Therefore, the integration is zero. Hence, the derivative becomes also zero  $\exists f(+xO) = O$ .  
(a) This lasts quite single. However, these seems to be no simple proof. Note that  $S(X,G)$  is not of autant-  
distance from the origin. So, you cannot just say  $ff(|Y|)$  shalls all be equal. You really need a parametrization  
of two distind ghores  $S(X,G)$  and  $S(X',GO)$ . (b) I think this problem is written in a very vague way  
because it does not specify if  $|X| > \varepsilon$  or  $B(X,G) \subset B(O, \varepsilon)$ . The meaning of the circular strip shall be  
specified anarchely. (This featback seems to contain lates of bad problems i()

7. You an jost dott.  
(a) Our goal is to prove 
$$U(-x,t) = -U(x,t)$$
.  
 $U(-x,t) = \int_{0}^{\infty} (\underline{\Phi}(-x,4,t) - \underline{\Phi}(-x+4,t))\underline{A}_{x})d\underline{A}_{y} = \int_{0}^{\infty} (\underline{\Phi}(x+4,t) - \underline{\Phi}(x+4,t))\underline{A}_{x})d\underline{A}_{y}$   
 $\underline{\Phi}(x,t) := \frac{1}{\sqrt{4\pi t_{k}t}} e^{-\frac{\pi t_{k}}{4t_{k}t}} \sum_{j=0}^{\infty} = -\int_{0}^{\infty} (\underline{\Phi}(x+4,t) - \underline{\Phi}(x+4,t))\underline{A}_{x})d\underline{A}_{y} = -U(x,t).$   
 $\underline{\Phi}(x,t) := \underline{\Phi}(-x,t)$   
(b) Similarly, let's ansider  $U(-x,t) = \int_{-\infty}^{\infty} \underline{\Phi}(-x-4,t)h(\underline{A})d\underline{A}_{y}.$   
 $= \int_{-\infty}^{\infty} \underline{\Phi}(x+4,t) + h(\underline{A})d(\underline{A}).$   
 $h(\underline{A})d\underline{A}_{y} = U(-x,t).$   
 $h(\underline{A})d\underline{A}_{y} = U(-x,t).$   
Therefore, if the initial data is add symmetric then so to the solution.